	Year 1 Spring 2

	A
	B
	C

	1 + 1 =  ⃝
	 0 + ⃝ = 10
	10 = ⃝ + 0

	2 + 2 = ⃝
	1 + ⃝ = 10
	10 = ⃝ + 1

	3 + 3 = ⃝
	2 + ⃝ = 10
	10 = ⃝ + 2

	4 + 4 = ⃝
	3 + ⃝ = 10
	10 = ⃝ + 3

	5 + 5 = ⃝
	4 + ⃝ = 10
	10 = ⃝ + 4

	Half of 10 =  ⃝
	5 is half of   ⃝
	  10 is double ⃝ 

	Half of  8  =  ⃝
	4 is half of   ⃝
	   8  is double ⃝

	Half of  6  =  ⃝
	3 is half of   ⃝
	   6  is double ⃝

	Half of  4  =  ⃝
	2 is half of   ⃝
	   4  is double ⃝

	Half of  2  =  ⃝
	1  is half of   ⃝
	   2  is double ⃝

	[image: ] is double ⃝
	[image: ] is double ⃝
	[image: ] is double ⃝

	Double ⃝  =   [image: ]       
	Double [image: ]= ⃝
	[bookmark: _GoBack]Double [image: N:\Downloads\5602ea96bd86ef21008bc852-750-399 (1).png]= ⃝

	Half of   [image: ]=  ⃝
	Half of [image: ]=  ⃝
	Half of [image: ]  = ⃝

	 3 is half of  ⃝
	two is half of  ⃝
	5 is half of  ⃝
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